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Instructions : 1) All questions are compulsory.
2) Each question carries 2 marks.
3) Answers should be marked in the given OMR answer sheet by

darkening the appropriate option.
4) Use black ball point pen only for marking the circle. Do not make any

stray mark on the OMR Answer Sheet.
5) Follow the instructions given on OMR sheet.
6) Rough work shall be done on the sheet provided at the end of question

paper.
7) Only non-programmable calculators are allowed.

1. Who designated Dr. Ranganathan, as the father of Library Science in India?

A) Rajendra Prasad B) Radha Krishnan

C) Jawaharlal Nehru D) Maurice Gwoyer

S>m°. a§JZmWZ `m§Zm ^maVmVrb J«§Wmb` emómMo OZH$ Ago H$moUr g§~moYbo?

A) amO|Ð àgmX ~) amYmH¥$îUZ

H$) n§{S>V Odmhabmb Zohê$ S>) _m°[ag ½dm`a

2. Which technique depicts tasks, duration, and dependency information?

A) PERT B) TQM

C) CPM D) Six Sigma

H$moUVo V§Ì H$m }̀, H$mbmdYr Am{U Adb§~Z _m{hVr Xe©{dVo?

A) nQ>© ~) Q>r. Š ỳ². E_

H$) grnrE_ S>) {gŠg {g½_m
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3. The concept ‘Broken Order Arrangement’ is applied when ________.
A) A library deviates from arranging the entire collection based on chosen

classification scheme.
B) A Library is not responding to users queries
C) A Library is not acquiring books
D) A Library is not acquiring journals

"I§{S>V H«$_ _m§S>Ur' hr g§H$ënZm Ho$ìhm bmJy hmoB©b?
A) O|ìhm EImXo J«§Wmb` {ZdS>boë`m dJuH$aU ̀ moOZoda AmYm[aV g§nyU© g§J«h ì`dpñWV H$aÊ`mnmgyZ

{dM{bV hmoVo.
~) O|ìhm EImXo J«§Wmb` dmnaH$Ë`mªÀ`m àíZm§Zm à{VgmX XoV Zmhr
H$) O|ìhm EImXo J«§Wmb` nwñVHo$ KoV Zmhr
S>) O|ìhm EImXo J«§Wmb` {Z`VH$m{bHo$ Cnm{O©V H$aV Zmhr

4. What is the full form of GOC?
A) Good Officer Committee B) Good Offices Centre
C) Good Offices Committee D) Good Officer Complex

"OrAmogr' Mo nyU© ê$n H$m` Amho?
A) JwS> Am°{\$ga H${_Q>r ~) JwS> Am°{\$gog g|Q>a
H$) JwS> Am°{\$gog H${_Q>r S>) JwS> Am°{\$ga H$moåßboŠg

5. Which of the following is not a database?
A) Scopus B) Web of Science
C) DSpace D) EBSCOHOST

Imbrbn¡H$s H$moUVm S>oQ>m~og Zmhr?
A) ñH$mong ~) do~ Am°\$ gm`Ýg
H$) S>r ñnog S>) B©~rñH$mohmoñQ>

6. In which year ‘Delivery of Books and Newspaper Act’ was implemented?
A) 1978 B) 1999
C) 1956 D) 1954

"{S>{bìhar Am°\$ ~wŠg A±S> Ý ỳO nona A°ŠQ>' H$moUË`m dfu bmJy H$aÊ`mV Ambm?
A) 1978 ~) 1999

H$) 1956 S>) 1954
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7. Who invented Browne Charging System?

A) Nina E. Browne B) Cambridge University Library

C) Dr. P.S.G. Kumar D) Melvil Dewey

~«mCZ Mm{OªJ {gñQ>_Mm emoY H$moUr bmdbm?

A) {ZZm. B©. ~«mCZ ~) H|${~«O {dÚmnrR> J§«Wmb`

H$) S>m°. nr. Eg. Or. Hw$_ma S>) _oëdrb Sw>B©

8. Library of Congress subject heading was started from _______ year?

A) 1911 B) 1909

C) 1917 D) 1921

bm`~«ar Am°\$ H$m±J«og gãOoŠQ> hoS>tJMo àH$meZ ............... `m gmbmnmgyZ gwê$ Pmbo?

A) 1911 ~) 1909

H$) 1917 S>) 1921

9. In which entries the few information given about book entries we called as
________

A) Main B) Added

C) See Also reference D) Class index

Á`m Zm|Xr_Ü ò J«§Wm{df`r ÌmoQ>H$ _m{hVr {Xbobr AgVo Ë`m Zm|Xrbm H$m` åhUVmV?

A) _w»` ~) nyaH$

H$) CbQ> g§X ©̂ S>) dJ©{ZX}er

10. Who made the rules for cataloguing for the first time?

A) S. R. Ranganathan B) Tomas Bodley

C) Anthony Pannizzi D) C. A. Cutter

""ê$ëg \$m°a H°$Q>bm°qJJ'' ho àW_ H$moUr V`ma Ho$bo?

A) Eg Ama a§JZmWZ ~) Wm°_g ~m°S>br

H$) A±WZr nm°{ZPr S>) gr. E. H$Q>a
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11. Who is known as a father of Dictionary Catalogue?

A) C. A. Cutter B) Dr. S. R. Ranganathan

C) Bliss D) Dr. Melvil Dewey

{S>ŠeZar H°$Q>bm°J Mo OZH$ H$moU AmhoV?

A) gr E H$Q>a ~) S>m°. Eg Ama a§JZmWZ

H$) pãbg S>) S>m°. _ob{db S²> ỳB©

12. The size of library catalogue card is _________.

A) 5 × 3 B) 5 × 4

C) 3 × 5 D) 3 × 3

J§«Wmb` Vm{bH$m nÌmMm AmH$ma ................ Amho.

A) 5 × 3 ~) 5 × 4

H$) 3 × 5 S>) 3 × 3

13. Who propounded Conservative, moderate and liberal theories of reference
service?

A) William A Katz B) S. R. Ranganathan

C) James I. Wyer D) R. Emery

g§X ©̂ godoMo nwamU_VdmXr, _Ü`_ d CXma_VdmXr {gÕm§V H$moUr _m§S>bo?

A) {dë`_ E H°$Q>P ~) Eg. Ama. a§JZmWZ

H$) Ooåg Am`. ìhoa S>) Ama. _oar

14. Now a day’s what is a most important vital resource for societal development
of a country

A) Books B) Knowledge

C) Information D) Data

EImÚm XoemÀ`m gm_m{OH$ {dH$mgmgmR>r gdm©V _hÎdmMo _hÎdnyU© g§gmYZ H$m` Amho?

A) J«§W ~) kmZ

H$) _m{hVr S>) S>oQ>m
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15. World of learning is a what type of source of information?

A) Primary source B) Tertiary source

C) Secondary source D) None of the above

World of learning hm _m{hVrMm ............. òmoV Amho?

A) àmW{_H$ ómoV ~) V¥Vr`H$ ómoV

H$) X²{dVr`H$ ómoV S>) darbn¡H$s H$moUVmhr Zmhr

16. What is the publication frequency of I.N.B.?

A Quarterly B) Monthly

C) Weekly D) Annual

Am`. EZ. ~r. Mr àH$m{eV dma§dm[aVm {H$Vr Amho?

A) Ì¡_m{gH$ ~) _m{gH$

H$) gmám{hH$ S>) dm{f©H$

17. Delivery of Books (Public Libraries Act) enacted in _______.

A) 1977 B) 1944

C) 1967 D) 1954

nwñVH$ {dVaU A{Y{Z`_ (gmd©O{ZH$ J«§Wmb` H$m`Xm) hm H$m`Xm ............. `m dfu bmJy Pmbm.

A) 1977 ~) 1944

H$) 1967 S>) 1954

18. BERN CONVENTION (1886) is concerned with __________.

A) Translations B) Copyright

C) Patent D) Standards

~Z© H$Ýìh|eZ (1886) ho Imbrbn¡H$s H$emgr g§~§{YV Amho?

A) ^mfm§Va ~) H$m°nramBQ>

H$) noQ>§Q> S>) _mZHo$
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19. First University to introduce M.Phil and PhD in LIS in India.

A) Aligarh Muslim University B) University of Calcutta

C) University of Delhi D) University of Madras

^maVmV J«§Wmb` Am{U _m{hVremò `m {dX²̀ memIoV E_. {\$b Am{U nrEMS>r gwê$ H$aUmao n{hbo
{dX²̀ mnrR> H$moUVo?

A) A{bJS> _wpñb_ {dX²̀ mnrR> ~) H$bH$Îmm {dX²̀ mnrR>

H$) {Xëbr {dX²̀ mnrR> S>) _Ðmg {dX²̀ mnrR>

20. Where did Dr. S. R. Ranganathan put forth his five laws of library science?

A) Meenakshi College, Annamalainagar

B) Hindu College, New Delhi

C) City College, Bangalore

D) Christ College, Bangalore

S>m°. Eg. Ama. a§JZmWZ `m§Zr J«§Wmb`emòmMo nmM {Z`_ H$moR>o _m§S>bo?

A) _rZmjr H$m°boO, AÊUm_bmBZJa ~) qhXÿ H$m°boO, Zdr {Xëbr

H$) {gQ>r H$m°boO, ~|Jbmoa S>) {¼ñV H$m°boO ~|Jbmoa

21. The Drury Principles are related with-

A) Cataloguing B) Classification

C) Book Selection D) Indexing

Sy>ar Mr VËdo ............ er g§~§{YV AmhoV.

A) H°$Q>bm°qJJ ~) dJuH$aU

H$) nwñVH$ {ZdS> S>) AZwH«$_{UH$m

22. First Information Literacy Programme in India is ________.

A) Sarva Shiksha Abhiyan

B) District Primary Education Programme

C) National Literacy Mission

D) TARA Akshar

^maVmVrb n{hbm _m{hVr gmjaVm H$m ©̀H«$_ ....................

A) gd© {ejm A{^`mZ ~) {Oëhm àmW{_H$ {ejU H$m ©̀H«$_

H$) amḯ>r` gmjaVm A{^`mZ S>) Vmam Aja
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23. __________ is typically a controlled vocabulary with a hierarchical structure,
with the understanding that there are different definitions of a hierarchy.

A) Folksonomy B) Taxonomy

C) SKOS D) CCF

.................. hr loUr aMZmË_H$ aMZm Agbobr gm_mÝ`V… eãXg§J«h {Z §̀ÌU Amho, {OWo nXmZwH«$_m§À`m
{d{dY ì`m»`m AmhoV ho g_OyZ KoVbo OmVo.

A) \$moŠgmoZm°_r ~) Q>°ŠgmoZm°_r

H$) Eg. Ho$. Amo. Eg. (SKOS) S>) gr. gr. E\$. (CCF)

24. Full form of RDA is _________.

A) Resource Description and Access B) Resource Data and Access

C) Relative Databank and Access D) Related Database Acquisition

RDA Mo g§nyU© ñdê$n ............... Amho.

A) [agmog© S>rñH«$sßeZ Am{U AŠgog ~) [agmog© S>oQ>m Am{U AŠgog

H$) arboQ>rd S>oQ>m~±H$ Am{U AŠgog S>) arboQ>oS> S>oQ>m~og AŠdr{OeZ

25. The full form of ORCID is -

A) Offline Resources and Contributor ID

B) Organic Renamed and Conditional ID

C) Online Researcher and Country ID

D) Open Researcher and Contributor ID

ORCID Mo nyU© ê$n Amho -

A) Offline Resources and Contributor ID

~) Organic Renamed and Conditional ID

H$) Online Researcher and Country ID

S>) Open Researcher and Contributor ID
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26. In which research design expert survey is undertaken?

A) Experimental B) Exploratory

C) Explanatory D) Diagnostic

H$moUË`m g§emoYZ AmamIS²>`m_Ü ò gd}jU A§V ©̂yV Amho?

A) àm`mo{JH$ ~) AÝdoeZmË_H$

H$) ñnï>rH$aUmË_H$ S>) {ZXmZmË_H$

27. The probability of Type 1 error is referred as?

A) 1-α B) β
C) α D) l-β

Q>mBn 1 ÌwQ>rMr g§̂ mì`Vm .............. åhUyZ g§~moYbo OmVo?

A) 1-α ~) β

H$) α S>) l-β

28. The interviewer collects information from the same group of respondents
two or more times at regular interval in _______.

A) Personal interview B) Group interview

C) Focused interview D) Structured interview

_wbmIVH$ma EH$mM g_yhmÀ`m à{VgmXmH$Sy>Z XmoZ qH$dm XmoZ nojm A{YH$ doim _m{hVr EH${ÌV H$aÊ`mÀ`m
àH$mamg .............. åhUVmV?

A) ì`ŠVrJV _wbmIV ~) gm_w{hH$ _wbmIV

H$) H|$Ðr` _wbmIV S>) g§a{MV _wbmIV

29. Which one of the following is not a type of non-probability sampling?

A) Quota B) Volunteer

C) Cluster D) Snowball

Imbrb n¡H$s H$moUVm Ag§̂ mì`Vm Z_wZm {ZdS>rMm àH$ma Amho?

A) H$moQ>m ~) ñd §̀…{Zdm©MrV

H$) g_yhmYm[aV S>) ñZmo~m°b
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30. The study with comparison of two periods-past and present is called as ___

A) Ex-post facto design B) Ex-pre facto design

C) Ex-comparison design D) Ex-periods design

ŷV Am{U dV©_mZ `m XmoÝhr H$mimVrb VwbZmË_H$ Aä`mgmg åhUVmV?

A) n[aUm{_Îma H$maU_r_m§gm AmamIS>m ~) nydm}Îma H$maU_r_m§gm AmamIS>m

H$) nyd© - VwbZmË_H$ AmamIS>m S>) nyd© - H$mi AmamIS>m

31. Chi-square is a measure of _________.

A) Central Tendency B) Association

C) Dispersion D) Deviation

H$m`-ñHo$Aa ho H$emÀ`m _mnZmMm àH$ma Amho?

A) H|$Ðr` àd¥Îmr ~) ghg§~§Y

H$) {dñVma S>) {dMbZ

32. Amongst the below which is not a citation management Software?

A) Urkund B) Zotero

C) Endnote D) Mendeley

Imbrbn¡H$s H$moUVr gm`Q>oeZ ì`dñWmnZ gm°âQ>doAa Zmhr?

A) CHwª$S> ~) PmoQ>oamo

H$) E§S>ZmoQ> S>) _|S>bo

33. _________ is a preferred sampling method for the population with finite
size.

A) Area sampling B) Cluster sampling

C) Purposive sampling D) Systematic sampling

_`m©{XV AmH$mamÀ`m bmoH$g§» ògmR>r .................. nÕVrMr Z_wZm nÕV Amho?

A) joÌ Z_wZm ~) ŠbñQ>a Z_wZm

H$) hoVy Z_wZm S>) nÕVera Z_wZm
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34. Survey research studies ___________

A) Circumstances B) Events

C) Populations D) Processes

gd}jU g§emoYZmV ................ Aä`mg H$aVmV.

A) n[apñWVr ~) H$m`©H«$_

H$) bú`g_yh S>) à{H«$`m

35. Logical method of generalization does not include _________

A) Method of Agreement B) Biased method

C) Method of difference D) Joint method

gm_mÝ`rH$aUmÀ`m Vm{H©$H$ nÕVr_Ü ò ................ g_m{dï> Zmhr?

A) H$amamMr nÕV ~) njnmVr nÕV

H$) \$aH$mMr nÕV S>) g§̀ wŠV nÕV

36. Which of the following is not type of research design?

A) Survey Research B) Case-study Research

C) Experimental Research D) Basic Research

g§emoYZ àménmMm Imbrbn¡H$s H$moUVm àH$ma Zmhr?

A) gd}jU g§emoYZ ~) Z_wZm - Aä`mg g§emoYZ

H$) àm`mo{JH$ g§emoYZ S>) _wb ŷV g§emoYZ

37. The most important element in construction of questionnaire is _______

A) Concept B) Chi-square

C) Model D) Content

àíZmdbrÀ`m {Z{_©VrVrb gdm©V _hËdmMm KQ>H$ åhUOo ...............

A) g§H$ënZm ~) H$m`-ñHo$Aa

H$) àmén S>) Ame`
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38. The point where the Null Hypothesis gets rejected is called as?

A) Significant Value B) Rejection Value

C) Acceptance Value D) Critical Value

Á`m {R>H$mUr Zb n[aH$ënZm ZmH$mabr OmVo, Ë`mbm H$m` åhUVmV?

A) _hÎdnyU© _yë` ~) AñdrH¥$Vr _yë`

H$) ñdrH¥$Vr _yë` S>) g_rjmË_H$ _yë`

39. What is the median of the series : 2,3,5,5,7,7,7,4,3,6,6?

A) 5 B) 7

C) 3 D) 0

nwT>rb e¥§IboMo _Ü`H$ H$m` Amho? : 2,3,5,5,7,7,7,4,3,6,6

A) 5 ~) 7

H$) 3 S>) 0

40. The defining the research problem is called as ________.

A) Statement of the Research Problem

B) Answer of the Research Problem

C) Description of the Research Problem

D) Research Design

g§emoYZmÀ`m g_ñ òMo dU©Z H$aÊ`mbm ................... Ago åhUVmV.

A) g§emoYZ g_ñ òMo {dYmZ

~) g§emoYZ g_ñ òMo CÎma

H$) g§emoYZ g_ñ òMo dU©Z

S>) g§emoYZ àmén
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41. We review the relevant literature to know ________.

A) What is already known about the topic

B) What concepts and theories have been applied to the topic

C) Who are the key contributors to the topic

D) All of the above

AmnU g§X ©̂ gm{hË` nwZ{d©bmoH$sV H$aVmo H$maU

A) {df`m~m~VMr nydu kmZ Agbobr _m{hVr

~) H$moUË`m g§H$ënZm, {gÕm§V {df`m~m~V dmnaÊ`mV Amë`m

H$) {df`m~m~V _hËdmMo `moJXmZ H$moUVo Amho

S>) darb gd©

42. Ex-post facto research does not have control over _________.

A) Relations B) Manifestation

C) Variables D) Influences

KQ>rV níMmV g§emoYZmV .............. {Z §̀{ÌV AgVo?

A) g§~§Y ~) n[aUm_ ñdê$no

H$) Mbo S>) à^mdo

43. Schedule is a technique of collecting data through ________.

A) Post B) Telephone

C) An enumerator D) Observation

VÏ` g§H$bZmgmR>r .................... _m\©$V gyMr dmnabr OmVo?

A) nmoñQ> ~) Q>o{b\$moZ

H$) àJZH$ S>) {ZarjU

44. Type 1 error occurs when?

A) We reject H0 if it is True B) We reject H0 if it is False

C) We accept H0 if it is True D) We accept H0 if it is False

Q>mBn 1 Eaa H$Yr òVo?

A) H0 ZmH$maVmo Oa Vo Iao Agob ~) ImoQ>o Agë`mg H0 ZmH$maVmo

H$) H0 ñdrH$maVmo Oa Vo Iao Agob S>) ImoQ>o Agë`mg H0 ñdrH$maVmo
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45. Research in which the independent variable is manipulated is termed _____.

A) Non-experimental hypothesis-testing research

B) Experimental hypothesis-testing research

C) Time series

D) Exploratory research

Á`m g§emoYZmV ñdV§ÌMbmV ~Xb Ho$bo OmVmV Ë`mg ................ åhUVmV?

A) Aà`mo{JH$ J¥hrV MmMUr g§emoYZ ~) à`mo{JH$ J¥hrV MmMUr g§emoYZ

H$) H$mb loUr S>) g§emoYZmË_H$

46. ____________ provides guidelines for the responsible conduct of research

A) Research Design B) Objectives of research

C) Hypothesis D) Research Ethics

................. O~m~Xma g§emoYZmgmR>r _mJ©Xe©H$ VËdo àXmZ H$aVmV.

A) g§emoYZ AmamIS>m ~) g§emoYZmMr CX²{Xï>o

H$) J¥hrVHo$ S>) g§emoYZ {ZVr

47. “Internal validity” refers to :

A) Whether or not there is really a causal relationship between two variables.

B) Whether or not the findings are relevant to the researchers’ everyday
lives.

C) The extent to which the researcher believes that this was a worthwhile
project.

D) How accurately the measurements represent underlying concepts.

""A§VJ©V d¡YVm'' åhUOo ................ {gÕ H$aUo.

A) XmoZ Mbm_Ü ò IamoIa H$m ©̀-H$maU g§~§Y hmoVm H$m Zmhr

~) g§emoYZmMo \$m`Xo X¡Z§{XZ OrdZmV gd©gm_mÝ`mg Cn ẁŠV AmhoV H$m ZmhrV

H$) g§emoYH$mg gXa àH$ën {H$Vr à_mUmV `mo½` dmQ>Vmo

S>) {H$Vr à_mUmV g§H$ënZm§Mo _mnZ AMyH$nUo Ho$bo OmVo
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48. Which of the following is the Statistical Package for data processing in
research?

A) SPSS B) IDAMS

C) MICROSTAT D) All the above

g§emoYZm_Ü ò S>oQ>m àH«$s òH$[aVm Imbrbn¡H$s H$moUVo gm§p»`H$s n°Ho$O Amho?

A) Eg. nr. Eg. Eg. ~) Am`. S>r. E. E_. Eg.

H$) _m`H«$moñQ>°Q> S>) darb gd©

49. In a research report/paper, ‘Loc.cit’ refers of _______.

A) An immediately preceding reference

B) An earlier page(s) but not immediately preceding reference

C) An earlier but not an immediately preceding reference

D) None of the above

g§emoYZ AhdmbmV/boI `m_Yrb ‘Loc.cit’  `mMm AW© ................. Agm Amho.

A) bJmobJ AJmoXaMm g§X ©̂

~) AJmoXaMo nmZ nU bJmobJ Z òUmam AJmoXaM g§X ©̂

H$) nyduMm na§Vw bJmobJ Z `moUmam AJmoXaMm g§X ©̂

S>) darbn¡H$s H$moUVmhr Zmhr

50. What are the maximum number of characters for SPSS variable name?

A) 256 B) 255

C) 155 D) 64

SPSS ìho[aE~b ZmdmgmR>r OmñVrV OmñV dU© {H$Vr AmhoV?

A) 256 ~) 255

H$) 155 S>) 64


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